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SUERIMO TiRIZBEET 51 SERIHA
o LESOBBOBELNORES TEBORRBSLNDORES LESOBBOBELNORES TEBORRESLNORES
= = S AV 7 S HVE | = = S AV = S AV B2l =
1 100kN/mM#Z#BZ % -l -~ - -|3mEBRB| - ~ - - -| 100kN/mM%E# %% - -~ - -|3mEBZD -~ - - -
Zhn st 1.00{10.00 ~ 6.27 7877 #hst 1000 ~  6.27| 2.12 10.72 Zhn st 1.00 5.00 ~ 9.50 7877 #hst | 500 ~ 950 2.12 10.72
5 100kN/mM#Z#BZ % -l -~ - -|3mEBRB| - ~ - - -| 100kN/mM%E# %% - -~ - -|3mEBZD -~ - - -
Zhn st 1.0010.00 ~ 3.91 49.06] #hist [ 000 ~ 391 2.33 11.76 Zhn st 1.00 500 ~ 6.70 49.06] #hist | 500 ~ 6.70| 2.33 11.76
3 100kN/mM#Z#BZ % -l -~ - -|3mEBRB| - ~ - - -| 100kN/mM%E# %% - -~ - -|3mEBZD -~ - - -
Zhn st - -~ - -| £hist -~ - - - Zhn st - -~ - -| £hist -~ - - -
4 100kN/mM#Z#BZ % -l -~ - -|3mEBRB| - ~ - - -| 100kN/mM%E# %% - -~ - -|3mEBZD -~ - - -
Zhn st - -~ - -| #hist -~ - - - Zhn st - -~ - -| £hist -~ - - -
5 100kN/mM#Z#BZ % -l -~ - -|3mEBRB| - ~ - - -| 100kN/mM%E# %% - -~ - -|3mEEZD -~ - - -
Zhn st - -~ - -| #hist -~ - - - Zhn st - -~ - -| #hist -~ - - -
6 100kN/mM#Z#BZ % -l -~ - -|3mEBRB| - ~ - - -| 100kN/mM%E# %% - -~ - -|3mEBZD -~ - - -
ZFh st 1.00/ 000 ~ 564 7049 #hbist [000 ~ 5.64| 2.01 10.18 Fh st 1.00] 500 ~ 7.24 7049 Fhils | 500 ~ 7.24] 201 10.18
; 100kN/mM#Z#BZ % -l -~ - -|3mEBRB| - ~ - - -| 100kN/mM%E# %% - -~ - -|3mEBZD -~ - - -
Zhn st 1.00{0.00 ~ 6.93 87.76] #h st | 000 ~ 6.93| 1.94 9.79 Zhn st 1.00f 500 ~ 9.21 87.76] #h st | 500 ~ 9.21| 194 9.79
8 100kN/mM#Z#BZ % -l -~ - -|3mEBRB| - ~ - - -| 100kN/mM%E# %% - -~ - -|3mEBZD -~ - - -
Zhnst 1.0010.00 ~ 7.39 94.33] #h 4t [ 000 ~ 0.00f 1.73 8.76 Zhn st 1.00] 500 ~ 9.60 94.33| #h st | 500 ~ 9.60| 1.73 8.76
9 100kN/mM#Z#BZ % -l -~ - -|3mEBRB| - ~ - - -| 100kN/mM%E# %% - -~ - -|3mEEZD -~ - - -
Zhn st 1.00{0.00 ~ 6.25 7851 #hiist | 000 ~ 000| 1.57 7.94 Zhn st 1.00] 500 ~ 8.03 78.51| #hiist | 500 ~ 8.03| 1.57 7.94
10 100kN/mM#Z#BZ % -l -~ - -|3mEBRB| - ~ - - -| 100kN/mM%E# %% - -~ - -|3mEEZD -~ - - -
Zhn st 1.00{0.00 ~ 6.68 84.36] #h it | 0.00 ~ 6.68] 2.01 10.14 Zhn st 1.00] 500 ~ 9.23 84.36] #h st | 5.00 ~ 9.23| 2.01 10.14
» 100kN/mM#Z#BZ % -l -~ - -|3mEBRB| - ~ - - -| 100kN/M%E# %% - -~ - -|3mEEZD -~ - - -
Zhn st 1.001 0.00 ~ 6.69 84.44| Fhi4t | 0,00 ~ 6.69] 2.01 10.13 Zhn st 1.00] 500 ~ 9.23 84.44| Fhuist | 5.00 ~ 9.23| 2.01 10.13
19 100kN/mM#Z#BZ % -l -~ - -|3mEBRB| - ~ - - -| 100kN/mM%E# %% - -~ - -|3mEEZD -~ - - -
Zhn st 1.001 0.00 ~ 6.76 85.46| #h st | 000 ~ 6.76] 1.88 9.49 Zn st 1.00f 500 ~ 8.51 85.46| #h st | 500 ~ 851| 1.88 9.49
13 100kN/mM#Z#BZ % -l -~ - -|3mEBRB| - ~ - - -| 100kN/mM%E# %% - -~ - -|3mEBZD -~ - - -
Zhnist 1.0010.00 ~ 6.70 84.57| #hii4 | 000 ~ 0.00| 1.65 8.34 Zhn st 1.00] 500 ~ 8.36 8457 #hist | 500 ~ 836| 1.65 8.34
14 100kN/mM#Z#BZ % -l -~ - -|3mEBRB| - ~ - - -| 100kN/mM%E# %% - -~ - -|3mEBZD -~ - - -
Zhn st 1.00{0.00 ~ 6.99 88.59| #h st | 0.00 ~ 6.99| 1.80 9.08 Zhn st 1.00f 500 ~ 8.71 88.59| =huist | 500 ~ 871 1.80 9.08
15 100kN/mM#Z#BZ % -l -~ - -|3mEBRB| - ~ - - -| 100kN/mM%E# %% - -~ - -|3mEBZD -~ - -
Fn Lot 1.00/0.00 ~ 6.29 79.02| Zh stk 1000 ~  6.29] 1.97 9.93 Fn Lot 1.00] 500 ~ 8.10 79.02| Zhilst | 500 ~ 810 1.97 9.%
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SIERMO Tin(CHEET ST i SER MR
io LREOBUOBEENOKRES LREOERBSENDRES LREOBUOBEENORES LREORBEESENORES
= = S AV 7 S HVE | = = S AV = S AV B2l =
16 100kN/mM#Z#BZ % -l -~ - -|3mEBRB| - ~ - - -| 100kN/mM%E# %% - -~ - -|3mEBZD -~ - - -
Zhn st 1.0010.00 ~ 5.93 7423 #h st 1000 ~  593| 1.88 9.48 Zhn st 1.00] 500 ~ 6.98 7423 #hist | 500 ~ 6.98| 1.88 9.48
17 100kN/mM#Z#BZ % -l -~ - -|3mEBRB| - ~ - - -| 100kN/mM%E# %% - -~ - -|3mEBZD -~ - - -
Zhn st 1.0010.00 ~ 6.02 75.49| #hiistk | 000 ~  6.02| 2.17 10.99 Zhn st 1.00f 5.00 ~ 9.60 75.49| #hList | 5.00 ~ 9.60| 2.17 10.99
18 100kN/mM#Z#BZ % -l -~ - -|3mEBRB| - ~ - - -| 100kN/mM%E# %% - -~ - -|3mEBZD -~ - - -
Zhn st 1.0010.00 ~ 7.17 91.21| Zh s |000 ~ 717 1.82 9.21 Zhn st 1.00] 500 ~ 9.16 91.21| #hi4t | 500 ~ 9.16| 1.82 9.21
19 100kN/mM#Z#BZ % -l -~ - -|3mEBRB| - ~ - - -| 100kN/mM%E# %% - -~ - -|3mEBZD -~ - - -
Fh st 1.00/ 000 ~ 4.11 5145| #hilst | 000 ~ 4.11| 204 10.33 ZFh st 1.00] 500 ~ 500 51.45| #hilst | 500 ~ 500] 2.04 10.33
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zhn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhn st ~ Fh s ~ Zhn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zhn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhnst ~ Fh s ~ Zhn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zhn st ~ Zh st ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zhn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zhn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhnist ~ Zh s ~ Zhn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#E#BZ % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zhn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#E#BZ % ~ ImEHEZD ~
st ~ Zh st ~ ZhLst ~ Zh st ~ |
aFE



